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Problem 1

An amusement park has a collection of scale models, with ratio 1 : 20, of buildings and other sights
from around the country. The height of the United States Capitol is 289 feet. What is the height in
feet of its replica to the nearest whole number?

— NI AR AT — F 3 [ E N @S Al SOW AR, Ssehr @ smpg sy 1. 20, K E
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(A)14 (B)15 (C)16 (D)18 (E)20

Problem 2
What is the value of the product

(143)-(+2)-(+5)-(1+3)-0+5)-(+5)

FE AN Z D
(llll(ll(llll(llo
+1)'(+2)' +3)' +4)'(+5)' +6)'
7 4 7 -
(A) G (B) 3 (C) 3 (D)7 (E)S8
Problem 3

Students Arn, Bob, Cyd, Dan, Eve, and Fon are arranged in that order in a circle. They start
counting: Arn first, then Bob, and so forth. When the number contains a 7 as a digit (such as 47) or is
a multiple of 7 that person leaves the circle and the counting continues. Who is the last one present in
the circle?

Am, Bob, Cyd, Dan, Eve #l Fon DL #¢ RN FE p— R . AT a6 %08 Am e, 24
J& Bob, DA MEE S HE 7 (B 47) BUE R T AR, AN At ST R B, %L
WAREERIEAT o Ja— AR IR Pl 2 i ?

(A) Arn (B) Bob (C) Cyd (D) Dan (E) Eve
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Problem 4

The twelve-sided figure shown has been drawn on 1 cm x 1 ¢ graph paper. What is the area of
the figure in em??

W B PR R EAE lom x Iom FEAR Fo RAXAS+ R AR R 2 015 |
K2

(A)12 (B)125 (C)13 (D) 135 (E) 14

Problem 5
What is the value of

1434+54---420174+2019-2-4—-6—---— 2016 — 20187
MR EARER S D
1434+54---420174+2019-2-4—-6—-.. = 2016 — 2018

(A) —1010  (B) —1009 (C) 1008 (D) 1009  (E) 1010

Problem 6

On a trip to the beach, Anh traveled 50 miles on the highway and 10 miles on a coastal access road.
He drove three times as fast on the highway as on the coastal road. If Anh spent 30 minutes driving
on the coastal road, how many minutes did his entire trip take?

TERWGMERI R b, Anh JefEmpd FJF T 50 B, SRJSAEVRIEIEE BT T 10 B . fhAE ol
R R RIS B 3 5. 45 Anh TEUSRIEE FAF T 30 44, M EREHF T
EZU N

(A)50 (B)70 (C)80) (D) 90  (E) 100



Problem 7

The 5-digit number 2 D18 Ujsdivisible by 9. What is the remainder when this number is divided
by &?

5fike2 D18 U Ryl o Bk, X MNERLL 8 B, Fridstichg b2
(A)r (B)3 (€)5 (D)6 (E)7

Problem 8

Mr. Garcia asked the members of his health class how many days last week they exercised for at
least 30 minutes. The results are summarized in the following bar graph, where the heights of the
bars represent the number of students.What was the mean number of days of exercise last week,
rounded to the nearest hundredth, reported by the students in Mr. Garcia's class?

Garcia JG/E A [ AR IR A4 EJE 20 RT3 12 30 708, 45 R 40 F B IE
Fos, HAER s ERoR AR B4 Garcia SeAEYE LI A4 ERSFEsh R B0 £ D

K2 o RARBI BT AL
_III—IIII_

\.111111}:1 of Dmn-. of ]1-"\[1“'--{

Number of Students

D ST e S S =] OO

Number of Students | 2244  Number of Days of Exercise | iz5) K%
(A) 350 (B)3.57 (C)4.36 (D) 4.50 (E) 5.00

Problem 9

Tyler is tiling the floor of his 12 foot by 16 foot living room. He plans to place one-foot by one-foot
square tiles to form a border along the edges of the room and to fill in the rest of the floor with two-
foot by two-foot square tiles. How many tiles will he use?

Tyler IEFERHflAL fE % 12 JER x 16 20 RO ] FH Befe e >k . AT 1 R x 1 38 UM T
TG VR R BRI Mk, B ) F At AR 0 2 R x 2 Se UM 7 TR % 3R . [l filt i
AR T 2/ DR ?

(A)48 (B)87T (C)91 (D)9  (E) 120
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Problem 10

The harmanic mean of a set of non-zero numbers is the reciprocal of the average of the reciprocals
of the numbers. What is the harmonic mean of 1, 2, and 4?

AR A EE R ONX A S B R EEB T E R E . B2 1,2 84 B SE

3 7 12 T 7
7 (B) 2 © - M 1 (E) 3

Problem 11

Abby, Bridget, and four of their classmates will be seated in two rows of three for a group picture, as
shown.

X X X

X X X
If the seating positions are assigned randomly, what is the probability that Abby and Bridget are
adjacent to each other in the same row or the same column?

Abby, Bridget A1 At DU A [FIFE[R] 22 AR LEUN T Firs BOPIAT =81 A BRAL T HE s AR A AT
P 8 i
B Y X

LB R BEHLAMAE 19, 754 Abby 1 Bridget AS7E IR 75k 7 — B IAR AT AL B 1 (0% 2
ETY:

1 2 7 1 2
(A)z B¢ ©CF @D E)3

Problem 12

The clock in Sri's car, which is not accurate, gains time at a constant rate. One day as he begins
shopping he notes that his car clock and his watch (which is accurate) both say 12:00 noon. When he
is done shopping, his watch says 12:30 and his car clock says 12:35. Later that day, Sri loses his
watch. He looks at his car clock and it says 7:00. What is the actual time?

Sri KR4 ERIBh R EAMERT), PA—MEE R B DN E] . — R 4 AT aa i, A 30
VR AP RAMB I TR (FREMEMRITD B4 12: 00. UfhasfKu)E, i
(TR EOE 12: 30, MR Esh R SR 12: 35, IE— KMLbmtE, Sri £ 7 F%, hE
THERTEMER, SO L 7. 00, TSZERE R LS ?

(A)5:50 (B)6:00 (C)6:30 (D)6:55 (E)8:10



Problem 13

Laila took five math tests, each worth a maximum of 100 points. Laila's score on each test was an
integer between 0 and 100, inclusive. Laila received the same score on the first four tests, and she
received a higher score on the last test. Her average score on the five tests was 82. How many values
are possible for Laila's score on the last test?

Laila Zn 1 5 B#07%, B 5l 0402 100 7. Laila &% X115 70 #6842 0 £ 100
26 (R 0 11000 MUK, Laila i DUB 53S0, T — 8% R el DU i
JorEE . ORISR0 2 82 7r, Maffa—o 5 lis sl st 2/ BUE?
(A)4 (B)5 (C)9 (D)10 (E) 18

Problem 14

Let V" be the greatest five-digit number whose digits have a product of 12(). What is the sum of the
digits of \?

N ZoR &ML EHF 2 A0y 120 W R Tl 8. B4 N &AL EEr 2 Mg 2 /07
(A) 15 (B) 16 (C)17 (D)18 (E)20

Problem 15

In the diagram below, a diameter of each of the two smaller circles is a radius of the larger circle. If
the two smaller circles have a combined area of I square unit, then what is the area of the shaded
region, in square units?

W B, 2 ANVNES H R EAREDE KB E)EAE, aniRiX 2 AN EIBTEARZ AE 1-FJ5 5
KL, A2 B B BT AR 22 /0P 5 B ?

1 1 1 ™
W, ®3 ©; O1 (B
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Problem 16

Professor Chang has nine different language books lined up on a bookshelf: two Arabic, three
German, and four Spanish. How many ways are there to arrange the nine books on the shelf keeping
the Arabic books together and keeping the Spanish books together?

Chang #U% A 9 AAFRIM BT EHES —HE: 2 RBTHATE T, 3 ARMEIE B 4 KPP E
Hio A2/ DMIEIX LB HER —H 72, ZRITRRIE B &, I B e g —
2

(A) 1440  (B) 2880  (C) 5760 (D) 182,440  (E) 362, 880

Problem 17

Bella begins to walk from her house toward her friend Ella's house. At the same time, Ella begins to
ride her bicycle toward Bella's house. They each maintain a constant speed, and Ella rides 5 times as
fast as Bella walks. The distance between their houses is 2 miles, which is 10, 560 feet, and Bella

ey
covers 27 feet with each step. How many steps will Bella take by the time she meets Ella?

Bella 7145 Mt 5 2547 Lt il /< Ella %K. [EIRE, Ella %5 E4TE 14411 Bella IR H k. il
M¥RFFS BEE R E, 5 H Ella %4138 /2 Bella /7 E#Z R 5 5. WA AHEE 2 3¢
B, B 10,560 57, B4 Bella ﬁ&%?éﬁﬁ', 84 24 Bella #1 Ella #5385, Bella & 7%
Wi

(A) 704  (B) 845  (C) 1056 (D) 1760  (E) 3520

Problem 18

How many positive factors does 23. 232 have?

23232 2 DAL F?

(A)9 (B)12 (C)28 (D)36 (E)42
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Problem 19

In a sign pyramid a cell gets a "+" if the two cells below it have the same sign, and it gets a "-" if the
two cells below it have different signs. The diagram below illustrates a sign pyramid with four levels.
How many possible ways are there to fill the four cells in the bottom row to produce a "+" at the top
of the pyramid?

E—FOEF B AR, R 2 AR B AR, AR 2 A7 LT s —
A b7 B FT 2 AT, WA 2 AT RO s — A -
FERR T —A 4 BIOR S a7, J T A FERTURA " + ", TARIKEN 4
ATTYeE % SR T 5 17752

+ — + -

(A)2 (B)4 (C)8 (D)12 (E) 16

Problem 20

In £ABC, 3 point Eis on AB with A& = 1land EB = 2.Point I?is on AC so
that DE | BC and point F'is on BC so that EF | AC. What is the ratio of the area
of C'DDE'F to the area of A ABC™Y

{EAABC i, HE{EHABE, i AE=1 EB=2, D EMAC [, wieDE | BC, xE

#BO L, waLT || AC. 1 CDEF (iU AABC [T H R /2

i
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Problem 21

How many positive three-digit integers have a remainder of 2 when divided by 6, a remainder of 5
when divided by 9, and a remainder of 7 when divided by 11?

HZ/DA IALIEEE, W R 6 RECY 2, BRI REON S5, AR 11 RECY 7?2
(A)1 (B)2 (©)3 (D)4 (E)5

Problem 22

Point I is the midpoint of side C'IJ in square ABCD, and BE meets diagonal AC at F. The area
of quadrilateral A # K [2is 45. What is the area of ABC'[)?

fEIF 5% ABCD i, E 2 C Dt s, BERWALACK T A F. VA AFED [fif 2
45, |a] ABCD WA &% /b2

A B

D E C
(A) 100  (B) 108 (C)120 (D) 135 (E) 144



Problem 23

From a regular octagon, a triangle is formed by connecting three randomly chosen vertices of the
octagon. What is the probability that at least one of the sides of the triangle is also a side of the
octagon?

W B PR IE ), 8 AN ARIE 3 M IFIERSRKRIE S — A =M. AR =
VNIt s R SUR R YA UN A R SULIUL RS 240N

2 5] 11 5 6
A) - B) — C) — D) - E) =
@W: ®5 ©f; O B
Problem 24
In the cube A BC' 1) £ F G H with opposite vertices ¢ and & .7 and T are the midpoints of
edges FBand HD, respectively. Let 12 be the ratio of the area of the cross-section F.7 (I to the

area of one of the faces of the cube. What is R=?

16 1F 74k ABCDEFGH 1, Tl C A E AR, 45 3 Rt | 4l FBAMHD fyep i, R %
STRRTIT EICI TRV IE A 4R — AN T AR He o SR R2?

5 4 3 25 9
(A) 1 (B) 3 (C) 2 (D) 16 (E) 1



Problem 25

How many perfect cubes lie between 2° + 1and 2'® + 1, inclusive?

78 2% 4 LRI2'™ o Lz ga) CAdE2®  TRI2'® 1) Jse e i 3ol 2 /042
(A) 4 (B) 9 (C) 10 (D) 57 (E) 58

10
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2018 AMC 8 Answer Key

1 2 3 4 5 6 7 8 9 10 11 12 13
A D D C E C B C B C C B A
14 15 16 17 18 19 20 21 22 23 24 25
D D C A E C A E B D & E

11




